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Kwnoeig Reidemeister. Avallolwteg xOuLwV ®xdl CUVOECUWYV

‘Acxnomn 4.1 Show that the three moves R1’ in Figure 1, R3’ in Figure 2 and R3" in
Figure 3, which are different from R1 kai R3, can be expressed as a composition of moves
R1, R2 and R3.

AeiZte ot ot tpewg xiviioerc R1’ oto Yyrua 1, R3' 610 Lyfua 2 xou R3" 610 Xyrjua 3, o
omoleg etvan dapopeTinég amd T R1 xou R3, unopotv va ex@eactoly wg cUVIEST) XVACENDY
R1, R2 xa R3.
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Syfuo 1 Kivnon R1'.
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Syfuo 2: Kivion R3'.

R3//

Yyfuo 3: Kivnon R3”.

‘Aoxnor 4.2 Find a sequence of Reidemeister moves which transform the diagram on
Figure 4 into the usual diagram of the trefoil knot.

Beette pla axohouvdio xiviicewy Reidemeister nou petatpénel 1o didypopus 610 Ly rua 4
070 GUVNULOUEVO DLEYPUUUA TOU TELQUANOU.

‘Aoxnon 4.3 Show that the figure eight knot is not tricolourable. (Choose a crossing
and assume that 3 different colours meet there. Show that the rules of tricolourability are
violated at a different crossing. Repeat for the four crossings.)

AeiZte ott 0 0y tdpt Sev eivon Totypwuatind. (AwhéEte xdnot OLC TANPWCT Xt UTOVEGTE
0Tl GuVaVTOVTOL Tela Ypduata. Aciite 0Tl TapaLdleTon 1) TELYPOUATIXOTYTA O XATOLL GAAT)
Saotapwo). Enavahdfete yio tic Té00epElS SLoo TAUPWOELS. )

‘Aoxnor 4.4 Examine the 2 knots with 5 crossings for tricolourability.

EheyZte €dv ot 800 x6pfol pe 5 Blao TaUpOOELS EVaL TELYPOUATIXOL.



Yyfua 4: ‘Addo dudrypauyua yioe to tpupihl. A different diagram for the trefoil knot.

‘Acxnorm 4.5 To transform a diagram to its reflection, change every overpass to an
underpas.

Draw the figure eight knot and its reflection. Show that the figure eight knot is isotopic
to its reflection. (First try it with a piece of string, and then try to describe it using
Reidemeister moves.)

Can you do it without using move R17?

[ v petatpédete Eva Bidypapa GTOV avTIXATOTTEIOUO Tou, ahhdlete xdie mévw Tépa-
OUO O XATW TEQAGHAL.
LYEDAGTE TO Oy TPl XL TOV OVTIXATOTTEIOUG Tou. Aellte 0Tt 10 oy Tdpl lval LooTOTIXG
ue tov avuxatontetowd tou. (YTnoédelrn: Kdvte to mpwto ye éva xopudtt oxowl, xou uetd,
doxtudoTe va to meplypdidete pe uvrioelc Reidemeister.)
Mmnogeite va 10 xdveTE ywplc va yenowonoceTe Ty xivnorn R1;

‘Acxnor 4.6 Find the Reidemeister moves that take the Hopf link to its reflection.

Beette Ti¢ miviioeic Reidemeister nou nafpvouv 1o obvdeouo Hopf otov avtixatonteious
Tou.

‘Acxnomn 4.7 An oriented trefoil knot is isotopic to its reverse, as can be seen in Figure
5. Find the Reidemeister moves that give the isotopy between 1" and rT'.

To mpocAvVATOMGUEVO TEUGUAAL Elval LGOTOTIXO UE To avTileTd Tou, dTwg QaiveTon GTO
Yyfua 5. Beeite tic xivijoeic Reidemeister mou didouv tnv wootomnio uetall T' xan rT.



Yoyfua 5: To mpocavatolicuévo TpuplAiL etvar tlooTtomixé ue to avtivetd tou. The oriented
trefoil is isotopic to its reverse.



